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o th O R =R eI Am (4 HEHD:
(—) A5 265 (noninformative prior);
() MABERIEE, 40— MM SEE 7010 (subjective prior);

(=) ZH—1 5515 B 5E5 (weakly informative prior).
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BB X (i = 1,...,m) AR E RSO OIS A REAS, JE pdf 4

f(z|0) =6"e*/? 0 >0,z >0.

(—) HEFRT 0 1 Jeffreys JeifsrAn, FFR b H 5505070
() HESKTF N =071 1) Jeffreys 26360, FERHH R0
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B Y ~ Poisson(NA), Mt N jgafksifis (2HD,

(=) R N ) Jeffreys JaBb o Ao 1ZHEI0 A IEH 40 A1 2 FOAR ) J5 96 731 2 75 158 43 A 2
(=) R N MEBESEI oA, I SRAH LAY Ji5 56 43 A

(=) BN =100,Y =7, 7£ Jeffreys Jei 704 T, 5K A 1 95% {5 IXIH] (58D Ml E )&

B0 FEIX (8] (HPD). PN X (8145 i [X 5 2
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W X;(i=1,...,n) Jiid FEA, X0 DUy .
(a) z|o? ~ N(0,0?),1/0? ~ Gamma(l,2)

(b) z|A ~ P(A), A ~ Gamma(2,1);

(¢) z|p ~ NB(10,p),p ~ Beta(0.5,0.5).

(=) 73RIR &S H 5 R A1

(=) AR &SI Jeffreys SeK A -
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